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Time: 10 Minutes Paper G. Science 7th Total Marks: 10

6th Month, 4th Week, 1st Day|Syllabus: Unit # 12: Constellations |

Q.No.1 Encircle the correct answer from the following choices. (1x4=4)
Lo L S S p e S S5

1. The earth revolves around:

_4‘_@,5/5 .................. 9

(a)|Moon #¢|(b)|Sun &o¥|(e)[Mars G /|(d)|Uranus u’:‘u;j
2. Which of the following is not constellation? "‘LJ.?IU’*"L? Ku:(cuf O
(a)|Venus J}v (b){Ursa major AWl
(¢)|Leo s1|(d)|Orion gl
3. How many stars of ursa major? ?ujg/l}’/.ZLﬁlal
(a)|One .«g (b)|Three uf (c)|Five é& (d)|Seven =l
4. On the end of the bowl points to the pole star.
_“-_m_j)d/éjpdagfédjg ..................
(a)|Dim star ul}'f(w (b)|Bright star ul"//',«ﬁ.,
(c)[Star »/0~|(d)|Both a & ¢ Udscnla
Q.No.2. Write the short answers. 2x3=6) .gf.‘!"J c«l..’ﬁ/‘?
(i) What is meant by constellation. Sty lg’/c;ﬁ//éu:/b'f
(i) What is ursa major? fe l{;’/f: L

(iii) When leo constellation can be seen every year?

fe Cﬁlp l@{}u’U Lf/;/.”//f’éu:/l"/ﬂd
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1. The earth revolves around:

(a)|Moon #¢|(b)(Sun Lo |(c)|Mars G //|(d)|Uranus J%g
2. Which of the following is not constellation? ?‘gdﬁ; u’-:{"y (u/cuf !
(a)[Venus u*:v (b)|Ursa major ifl//f
(¢)|Leo 51| (d)|Orion S
3. How many stars of ursa major? ‘-U}(.A?ZLZ: (W]
(a)|One .,g (b)|Three Uf (¢)|Five éL (d)[Seven =l
4. On the end of the bowl points to the pole star.

—e b bl YN TPy Thm—
(a)|Dim star ul"/(ﬂ (b)|Bright star uw@
(c)[Star 2.0-|(d)[Both a & ¢ Udncusla
Q.No.2. Write the short answers. 2%x3=06) _u:,,i .:«Lli/z"
(i) What is meant by constellation. Sty “lf(c;_‘//?é Ja
(ii) What is ursa major? fe “L/'(f: (]

(iii) When leo constellation can be seen every year?

?Laﬁl:@b{)JJVﬁfu/LU;/tmd




